
l;=g+= Joo lzif{s-ljj/0f_ cf=j= )&$.)&% sf] 

;+zf]lwt /sd ?

s}lkmot

!  rfn'vr{ 23004093.80
@  k"lhut vr{ 50151897.00
# Zfzt{ cg'bfg 58418542.00 ^#(^$%&=!)

lkmtf{

)&$.)&% sf]

$  dd{t ;+ef/ sf]if 1000000.00
% ljkt Jo= sf]if 700000.00
^ ;dk'/s sf]if 0.00
& ljifout sfof{no 2451845.00

* Pn=lh=l;=l8=lk= 1060000.00
( emf]=k'= x]/fn' vr{ 84000.00
!) ;fdflhs ;'/Iff eQf 16205200.00

hDdf 153075577.80

o; ufpFkflnsfsf] cf=j= )&$.)&%sf] ;+zf]lwt cfo Joo वििरणको 
;f/f+z tkl;n cg';f/ 5 .

tklznM

Jootkm{ M


